@z2y N\

ERLAZ / Components
No. £ ¥ / Part name #E / Pcs #ME / Material 8- REANIE / Color-Finish
I B 4 |ZLEmH AB063S-TS A=, TS - FARAL & ST EE
Frame Extruded aluminium A6063S-T5 Silver , black * Anodized & clear coated
2 a—F—Javy 4 ABS#iAE UL94HB FANTL—, TIvY
Corner block ABS UL94HB Light gray , Black
3 J—F—3Fvy7 / Blind plug 8 IZA+T / TPE S4AJL—, T5v% / Light gray , Black
4 INAAFH IRV / Slide panel 1 T ILZAR / Aluminium A1100P t=1.5 D IIN—=TF LA / Silver - Anodized
7 JLEAR / Aluminium A1100P t=1.5 J5wY + B / Black - Painted
5 BARF/ S JL / Open—closing panel 1 7 IJLZHR / Aluminium A1100P t=2.0 S IIN—TF LA / Silver * Anodized
7 IJLZHR / Aluminium A1100P t=2.0 75997 LAk / Black * Anodized
6 SEE/\URIL / Flat handle Tset HENA A+ X / Diecast zinc D IViN— « ZE / Silver + Painted
5wy - B / Black - Painted
7 £ / Hinge 1set AT 4 A / Diecast zinc 2 )LiN— -« ZFEE / Silver - Painted
J5v4 « %% / Black * Painted
INRILEY IEE / Panel protection pad 6 RLAL T4 T4+—Ls / Polyolefin foam 7594 / Black
HR{TE Z(M4 x 15 F) 16 #% =ffioni—k
Screw(M4 - 15 Pan head) Steel Trivalent chromate
P
? 2
2
A A

«_.%L@S

>

N

¢
<y

Q 8
fnda/Title A —
[TAKACHI] #t&itshFEHTE B RO hO— LR YA R © L
— ﬁ{iﬁ(ﬁ%}%;ﬁ%ﬂ) / Color Type(End of product number[]) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. OPEN-CLOSING CONTROL BOX
5% / Code /\*}P / Panel 71'/_A / Freme :l_j:_ / Corner 7 E2/Approved #:[X/Checked #X/Created FIFE /Product number RE/Scale
GS 2 JLsN— / Silver < )LsN— / Silver SA4 KT L— / Light gray
525 / Code [FM/\>F)LiE#k / Flat Handle Type BS S JLiIN— / Silver 2 JLIN— / Silver 7594/ Black FCW6-15-20N1 / FCW6-15-20K[]
N fR4E / Normal type B X 2 JLsN— / Silver 75974/ Black 75974/ Black iR T AR . 1/ 5
K 1% / Key lock type BB J5v%/ Black J5v%/ Black 554/ Black fERLH/Date 2021/01/05




L —L348] / Frame3 side

TJL—L148l / Framel side

150

<— B

N

24

q
=

200
70

>
ﬁrl
|
45.5

405 <~ B 205

L —L248] / Frame?2 side

—1 Pl o))

A-A(1:3)
B/ N\ ILEZN~Ti% / Open—closing panel MAX dim. 104

(43)

BE3~ti% / MAX dim. 104

INAAFHINRILEFN T / Slide panel MAX dim. 110

L —LAfl / Frame4 side

62.9

B-B(1:3)

E®M~TiE / MAX dim. 56.5

$<T3i% / Open—closing panel MAX dim. 154

%

BHRR/ A RILE

25.7

<13k / MAX dim. 154

%

ol

INAAFHINHRILE DT % / Slide panel MAX dim. 160

C: 7L —L3¥LKE / Frame cross—section

FwkL—JL / Nut rail
A/ FyrRiE )
BFEA T avf RSARF Y FZ-3 # ANDBLEEET,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
AKX rO—ILRY IR

OPEN-CLOSING CONTOROL BOX

o]

A& 8/ Approved

1% [X|/Checked

£

#IX]/Created

iR

B F /Product number

FCW6-15-20NL] / FCW6-15-20K[]

RFE/Scale
1:3

{EBL B /Date 2017/07/11

2 /5




18.1
8.7
4.05
1.2

1.65

18.1

25

8.7
45

104

19.7
13.7
L —L1 / Framel
8.2 ™~
A
= o _
L/ &
/| 18 ® N
I 57 5 I
<
6§” o
GS D I |
Q — e
™
A
13.7 4-M4
227 < £ &
P — )L / Nut rail
FwkL—JL / Nut rai M3 5 04 5
L —L2 / Frame2
% ;(5@ e ——
() ) I ]

N\ n
i M

fnd/Title
BRRMIHNFEHTE SL—1s1 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel’ 2
752/ Approved 1% [X|/Checked #IX]/Created R /Product number RE/Scale
H62.9-W150 1:2
F iR 3/ 5
{ERL B /Date 2017/07/11




18.1
8.7
4.05
1.2

1.65

18.1

25

8.7
45

154

19.7
13.7
L —.L3 / Frame3
8.2 ™~
A
) o )
e o
1 1.8 - N
H 5.7 o 3
6§” o
GS ﬂ L 1|
™~
A
13.7 4-M4

FvkL—JL / Nut rail 9-M3 5 144 5

JL—.L\4 / Frame4

0\ n

7 \
N Ve
4 A\

&
K

4 /Title
BRRMIHNFEHTE JL—A3 . 4 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3’ 4
7 ER/Approved & X]/Checked #IX/Created FIF /Product number RFE/Scale
H62.9-D200 12
ES iR 45
YEFtH/Date  2017/07/11




BAE/ SR JL / Open—closing panel

2-R6
0
8.5

Lo

o

Lo

< 24
Lo
£
ge]
2

~ = R
— N
#H
1
R
T

/N2 JLFKE /Panel Frontside

INAAFHINA L / Slide panel

171.9

B3~TiE / MAX dim. 160

/I\FJLERE/Panel Frontside

121
108 13
ExhtiE / MAX dim. 97.5
g
oo
M
U
oo
\
14

______+_______

BE#~ti%E / MAX dim. 110

121.9

18.1

134.8

18.1

RE—MA

Surface protective film side

fREES—MMA

Surface protective film side

1.5

©0

©0

/I\FRJLEEE /Panel Backside

—_ = + _____ —_
I
I
I
I
! J\ZRJLEE /Panel Backside
mn/Title A —1
TAKACHI| #RXettshFEHITE ISR @) L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 &R/ Approved 1#[X]/Checked #X/Created R /Product number RE/Scale
W150 - D200 12
chif 3 chig .
{ER B /Date 2020/07/17




